BODY DIMENSIONS DI-3
ENGINE COMPARTMENT
(Three-Dimensional Distance)
N
C £
/X 8 542, )
' G21 57) T —(21.34)—
810 _—y
m—— N -
(33.07) B .28 ( ; )
i T | (34_._69) " 7
[ Caaol LT 1,361
'. N ghey F/ (6358)
\ \ 58.62) | .
| '\!' L o { ) 1,323
[N N (52.09)
[ A \\ L 1,084
koo
J
Vehicle Dimensions Height From Imaginary Standard Line
A-C A-N A-n C-N C-n D-E D-f
or or or or or or or J-j A a K, k N, n
a-c a-n a-N c-n c-N D-e D-F
698 915 1,625 221 1,457 803 614 1,501 628 611 745
(27.48) | (36.02) | (63.98) | (8.70) | (57.36) | (31.61) | (24.17) | (59.09) (24.72) | (24.06) | (29.33)
K-N K-n L-N L-n M-N M-n
or or or or M-m or or
k-n k-N I-n I-N m-n m-N
1,053 1,518 815 1,616 1,328 561 1,507
(41.46) | (59.76) | (32.09) | (63.62) | (52.28) | (22.09) | (59.33)
HINT: For symbols, capital letters indicate right side of vehicle,
small letters indicate left side of vehicle (seen from rear). mm (in.)
Symbol Name Hole dia. Symbol Name Hole dia.
A, a | Front fender installation nut M6 (0.24) I Hood lock support brace installation nut M6 (0.24)
B, b | Front spring support hole inner-rear 213 (0.51) 3 Radiator support to front fender bracket 210 (0.39)
C, c | Frontfender installation nut M6 (0.24) ' standard hole '

D Cowl top inner panel center mark — K, k | Radiator upper support installation nut M6 (0.24)
E, e | Front side member standard hole o 15 (0.59) L, 1 Radiator upper front support standard hole 2 10 (0.39)
F, f Front side member standard hole 2 15 (0.59) M, m | Front fender installation nut M6 (0.24)
G, g | Radiator upper support installation nut M6 (0.24) N, n | Hood hinge installation nut-rear M8 (0.31)
H, h | Crush box installation nut M14 (0.55) — — —




